B o

Cylinder joint accessory AIl'TAC

Y Knuckle

O Table for Y knuckle and cylinder

Cylindei SE sl
Accessory 32|40 ] 50|63 ] 80 100f125] 32 | 40 | 50 | 63 | &0 | 100] 125 | 160 | 200
F-M10125YI | @ L

E-M12125YI . L]
F-M16150Y1 L] L]
F-M20150Y1 LR ® | ®
F-M27200Y] L L
F-M36200Y1 L)

Cylinden SGC SC
Accessoy™| 125 | 180 | 200 | 250 | 32 | 40 | s0 | ea | 8o | 100
| F-M10125YI .

| E-M12125Y1 ° ]
F-M16150Y1 D D O Ordering code
| E-M20150Y1 ° °
| E-m27200v1| @
F-M36200Y ° °
F-M42200Y] D

Cylindei MA MAL Accessories code Knuckle
Accessory T e I e e e e O e e

E_:$:$:|| L ~ LJ Screw thread Thread pitch Code
ﬁ101 25Y| ] . Y ™) MOo4 | M4 070 | 0.7mm | IS0 standard type
e ° Y M05 | M5 080 | 0.8mm IS0 standard type
EM1A1507.) Y Y MOE | M& 100 1.0mm (MI series M10 and below)
Mo | M8 125 | 1.25mm S| series

M10 | M10 ACQ series

Cylinde ACQ Mi2 | M2 MA series
Accessory 12 16 20 25 32 40 50 63 80 100 Mi4 | M4 |150 [1.5mm | PB series
F-M05080YQ| @ M16 | M16 MF series
F-MO06100YQ L M18 | Mm18
F-M08125YQ L] M20 | M20
E-M10125YQ L] M22 | M22
F-M14150YQ L L M26 | M26
F-M18150YQ L L M27 | M27 |200 [2.0mm
F-M22150YQ L M36 | M36
F-M26150YQ o) Ma2 | ma2

m

o= 0|~

Cylinde MI
Accessory 8 10 12 16 20 25 32 40
F-M04070YE L] L]
F-MO&100YE . L
F-MO8125YE L]
F-M10125YE L] L]
F-M12125Y] L

Cylinde MF
Cylinde = Accessory 20 [ 25 | a2 | 40
Accessory 32|40 50 | 63 | 80 [ 100] 125 F-MOB125YF| @
F-M10125Y)| @ F-M10125YF D [
F-M14150Y. D F-M14150YF )
F-M18150YJ ID Cylinde! —=
B Ligaibh ) e Accessory [ 4 | 6 [ 10 | 12 [ 16
F-M26150YJ L] F-M04070YB D)
EeMZ7200Y) o E-M05080YB D

A VI-35




B o

Cylinder joint accessory AIl'TAC

Y Knuckle

O Dimensions

ISO standard type PB Series G D
PA Typetem  |NA[NC]ND[NPINQ[NM]  NH [PafPB L l
- F-MOB100Yl | 12| 5 |21 |14 | 28| 6 | Mex10 [17.312.5 L _L
CINA F-moai125yl |16 ] 8 [30]| 15| 40| 8 | max1.25 p1.di6.g BB T
NM o | F-Mi0125v1 [ 19|10 40|20 52 10| mM10x 125 ps.g 20 J_ C |4
i [ g F-M12125Yl [25.4] 12| 48 | 24 | 62 [ 12| m12x 1.25 p2.4p6.2 ] b 9
1 F-M16150Y] | 32 | 16 | 64 | 32 | 80 | 16 | Mi6x1.5 | 3933 Clip 1H 11
ol [ | F-M20150Y1 |44.4] 20 | 80 | 40 [102] 20 [ M20x1.5 k3.4 45 E 4 F
z|2 F-M27200v1 | 54 | 30 [110| 55 [139] 30 | mM27x2.0 pa.dss e 5 e
F-M36200Y | 70 | 35 |144| 73 |178] 35 | M36x2.0 pod 71 Iypeifiem
F-mo4070vB | 28 | 21 [102] 12 [ Max0.7 | 10 [155) 3.2 3.3
L--J L -J F-M42200Y1 | 85 | 40 |168| 86 [211]40.3] mazx20 [115]93 x
NHS F-mos080YB | 28 | 21 [102] 12 | Msxo0.8 | 10 [155] 65| 5
JS| Series NL
NG NG1 PA MA Series
— . - — __PB__ CNA
5[ —J 8] NM PA
= T s
= s 2 11 R [
= |
£ | 2 E} HE =3
; . o ]2
o
J_ = = 1 Jl | O
=
¥ | . e |
NI T = g
o NS Z[ | |
Typeltem | NG1 | NH NI NL [ NM [ NO | NP | NQ | NR [ NS | PA [ PB Lonc H
F-M10125YJ | 14.2 10 |M10x1.25| 27.8| 16 10 30 20 40 20 | 346|288 ypelltem |NA NCIND NG MNH NJ | NL [NM| NN | NP NG F'AlF'B
F-M14150YJ | 14.2 | 10 [M14x1.5)27.8)| 19 | 17 | 40 | 22 | 51 | 22 | 346 | 288 F-M12125YA|25_4 10|45 | 25 [M12x 1.25( 15 |23 | 14 [ 10|20 | 57 | 32 Izaz
F-M18150YJ | 20.2 | 14 |M18x1.5]|39.8| 24 | 19 | 50 | 28 | 64 | 28 | 47 [408 ]
F-M22150v) | 30.2 | 22 [meex15]508] 34 | 20 | 65 [ 40 | 85 | 40 [602 608 SO standard type .
F-M26150YJ | 302 | 22 [M26x1.5|508| 34 | 20 | 65 | 40 | 85 | 40 | 692|608 (MI series M10 and below) H LD
F-M27200vJ | 322 | 25 [Me7x20]638| 42 | 47 [ 100 | 54 [ 127 | 46 [ 732648 /‘l‘\ |
=
. Lg i
ACQ Series l o o
F-M05080YQ Da0q = F-M14150YQ Ds014 3 i o
F-MO0B100YQ ] F F-M18150YQ — W clip —
F-M08125YQ = P~ F-M22150YQ 1 [: | ° L _] 1HE
F-M10125YQ ] F-M26150YQ ;R | B E & F
\_-/ | 4 —
< | A4 . Typelltem AlBlc]lD E E G st [
o \I/ —LL] F-MO4070YE | 22 | 16 | 8 | 8 | M4=07 7 |115] 4 | 4
" ! F-Mo6100YE | 32 | 24 [ 12 [ 12 [mex10 |10 16] 6 | 6
= ;‘,3;— F-M08125YE | 42 | 32 [ 16 | 16 [M8x125 |14 [ 21| 8 | 8
T F-M10125YE | 52 | 40 | 20 | 19 | M10x125 | 18 | 25 | 10 | 10
7an Il
- N \,ﬁ"} MF Series
et d F-M08125YF i LD
F-M10125YF |
!
Typeiltem e T Hl] 1] + ! E[
<
F-mMososoya| 22 |16 [53| 5 [ 6 | msxos [ o |10 - T T ] m
F-most0ove| 28 [ 21 [e6| 5 [ 11 | mex1o [ 11 | 12] - - H iu[ 0
F-M08125vQ| 34 | 25 83| 8 | 85| mex125 | 15 | 16 | - pe 2C
F-m10125vQ| 41 | 30 [10.3] 10 [10.5]mM1ox125] 19 [ 20| - o
_ H
F-mia1s0val 42 | 30 [18.4] 10| 16 | miax15 [ 22 | 22| 36 F-M14150YF D
F-m18150vQ| 56 | 40 [22.4] 14 [ 20 | m1ax1.5 | 28 | 28 | 44 N
F-m22150vQ| 71 | 50 [28.4] 18 | 23 | me2x1.5 | 38 | 38 | 56
F-m26150vQ| 70 | 55 [32.4] 22 | 24 | meex1.5 | 44 | 44 | 64 N
PIN | ml =
1 L
LE.] $C
TR o = = = F= = = = Typelltem alelc|D E o ey e P
Joe 05080vQ | 06100vQ | 08125vQ | 10125vQ | 14150vQ | 18150vQ | 22150vQ | 26150YQ F_MO0B125YF | 46 | 36 118 1175/ Max125| 16 | 16124 | o
A AL 122 i 20.2 362 44.2 56.2 £ F-M10125YF | 48 | 38 | 18 [17.5M10x 125 18 [16]| 24 |9 | o
B 1.5 15 1.5 2 2 2 2 2.5
= 3 3 . A N 2 s . F-M14150YF | 68 | 55 | 23 [ 26 [M14x1.5] 22 [25] 44 | 16] 12
D 5 5 8 10 10 14 18 22
E 0.7 0.7 0.9 1.1 1.1 1.1 17 1.7
F 14.6 16.6 21 26.4 424 50.4 63.6 72.6




	01
	02

